Algebra 1CP			Practice Test Ch. 8 (Unit 9)		Name ____________________
Show all work for full credit! 			Write your answers in answer column.
Find the GCF of each set of polynomial.
1) 
							1) ________________________
2) 
						2) ________________________

Factor each polynomial.
3) 
						3) ________________________



4) 
						4) ________________________



Solve each equation.  Check the solution.
5) 
							5) ________________________


6) 
						6) ________________________



Factor each polynomial, if possible.  If the polynomial cannot be factored, write “prime”
7) 
							7) ________________________


8) 
						8) ________________________
9) 
						9) ________________________




10) 
							10) _______________________



11) 
						11) _______________________



12) 
							12) _______________________



Solve each equation.
13) 
[bookmark: _GoBack]						13) _______________________




14) 
							14) _______________________

Answer each word problem.
15) 
A rectangle has an area of .  			15) _______________________
       What are its length and width?   




16) 
Given , where v = initial velocity, 			16) _______________________
       and t = time in seconds.  If a water balloon is launched 
      with an initial velocity of 80 feet per second, how long
	  will it take for the water balloon to hit its target?  
	  Assuming the target is at ground level.

	  Hint:  Ground level is at .





Multiple Choice.
17) Which trinomial is not a perfect square?			17) _______________________

A) 

		C)		
B) 

	D)	


18) The length of a rectangle is twice the width.			18) _______________________
The area is 128 square centimeters.  What is the length?
A) 48 cm	B) 20 cm	C)	15 cm	D)	16 cm
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